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No. of Questions: 150 

W'IT ~ m.<rr ; 150 

Time: 21 Hours] 

W'flf: 21 ~} 
{ Full Marks: 450 

(~:45U 

Note: (i) Attempt as many questions as you can. Each quC'stion carries 3 (three) 
marks. One mark will be deducted for each incorrect answer. Zero mark 
will be awarded for each unattempted question. 

~ rn .m "" <vB <m lI'T<'! <'!R, ~ l!FI 3 «IR) :;i", <m ~, 
fIflFff Tfffi'f ifflV ,ff ~ f{'fi aiq; q;rcr """'" I ~ 31 '1" R d l!FI <m qr'<lRP 
~Wrr' 

(ii) If more than one alternative answers seem to be approximate to the correct 
answer, choose the closest one. 

'!Fe; ~ a",R'G", i3ffi -mlt i3ffi <f; f.'r<p" vcfur m. <it f.1",0,," ~ i3ffi ~ , 

1. "Ownership and risk go side by side." This is related to: 
(1) Partnership (2) Sole proprietorship 
(3) Company (4) Cooperative enterprise 

"'I'1IIi1", '0i ",\FIll" <WIlIjj mrr ~ ," "" 'fl"lf.tm ~ ; 
(1) ",,,iI~l~ 'it (2) ~ 'ilWlR 'it 
(3) 'li'<r'l\ 'it (4) '" 15 '" 1 ~ il'lll>'! 'it 

2. Quick decision is a feature of : 
(1) Sole proprietorship 
(3) Partnership 
mm f.lu\<! \"1> "IH"T ~ ; 
(1) ~ "lJ1nX <m 

(3) ""~~'~ <m 

( 1 ) 

(2) Company 
(4) Cooperative enterprise 

(2) 'li'<r'l\ <m 

(4) '" 15 '" 1 ~ il'lll>'! <jjT 

P.T.O. 
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3. 'Investment of capital is not essential.' This is related to: 

(1) Cooperative enterprise (2) Partnership 

(3) Company (4) Foreign company 

.~ 'liT ~f.1I1I,"'i 31lq'"'" "flff ~ ~ r m; ~ t . 
(1 ) '(l 0 '" 11) 01llI"l <'r 

(3) ~ <'r 

4. Trade means: 

(1) Buying 

(3) Advertising 

"lJ'lR 'liT 3j,j Nm ~ • 

(1) lIRI 

(3) fih1lq'i 

5. Internal trade is synonym of: 

(1) Domestic trade 

(3) Wholesale trade 

311'" R", "lJ'lR tmf<r t . 
(1) <tm "lJ'lR 'liT 

(3) $Ii "lJ'lR 'liT 

6. Commerce is a branch of : 

(1) Industry 

qlfill"'1 ,,"Ii WW ~ • 

(1) ~ 'liT 

(2) Production 

(2) ~({jl"'i 'liT 

7. Exchange is the corc of : 

(1) Business 

~ f.1 '1 11 'flR ffi"f t • 
(1) "'q'llll1 'liT 

(2) Production 

(2) ~({jl"'i .,1 

(2 ) 

(2) '(l1,jJ",11 <'r 

(4) ~ ~oj) <'r 

(2) Selling 

(4) Buying and selling 

(2) ~ 

(4) lIRI ~ ~ 

(2) Retail trade 

(4) Both retail and wholesale trade 

(2) ~ "lJ'lR 'liT 

(4) ~ ~ $Ii "lJ'lR <:Ri 'liT 

(3) Business (4) Distribution 

(4) fmRur 'liT 

(3) Insurance (4) Risk 

(3) $IT 'liT (4) ;;j)fWr "" 



8. limited capital is a feature of : 

(1) Partnership 

(3) Cooperative 

~ ij:;#r '1'1' <'!eJU[ t • 

(1) <!I;iI",il <liT 

(3) ,wI>Jil "liT 
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(2) Company limited by shares 

(4) Sole proprietorship 

(2) 3i'ffl liRT <l\fi'm ~ <liT 

(4) 'I'I'<'! f<j I fi16'l <liT 

9. Which of the following is not a feature of partnership? 

(1) Agreement (2) Artificial person 

(3) Division of profit (4) Mutual agency 

fl1 "1 Gi Itl <l B -{j <tR -W fll;i)" I il <liT <'!eJU[ 'ffff t 7 

(1) 3l'J'R1 (2) ~ "lfiln 

1 O. A partnership which is formed for a particular period or task is called: 

(1) General partnership (2) Limited partnership 

(3) Particular partnership (4) Partncr.:;hip at will 

05 fll;il"lil uit fcm1T ~ 3f<lfu 3l'l'lT qmj ~ <Aill ~, 'h,,<'lltfi t . 
(1) W'!RI fll,jJ"lil 

(3) fllfue fll,jJ" lil 

(2) <l\fi'm fll,jJ" I il 

(4) ~ ,'I,jJ"lil 

11. \Vhich of the following is not a characteristic of company? 

(1) Creation of law (2) Voluntary association 

(3) Separate existence (4) Direct motivation 

fl1"181ft1<'1 B 'fl <tR-~ ~ <6\ fij,l"ctl 'ffff t 7 

(1) f<lt!R <6\ ""'" (2) ~ '<lET 

(3) 'lOW( ~ (4) \!?lel ~ 

( 3 ) PTO. 



10P/201/2 

12. A company which can be formed only with two members, is called: 

(1) Private company (2) Public company 

(3) Subsidiary company (4) Holding company 

<15 ~ oil qiqc;r <it ~ <'t iii <r'WiT VlT ~ t, ""'MIff) t : 

(1) f.1<il\ ~ (2) flI4",f.1q; ~ 

(3) flgl~q; ~ (4) ~ ~ 

13. Statutory company is one which is established under: 

(I) Companies Act 1956 

(2) Partnership Act 1932 

(3) Indian Contract Act 1872 

(4) Special act of parliament or state assembly 

l)mf.'rq;-~ "ifi.' -,it<l) t, oil ~ qjt vrr<ll t : 

(1) ~ 3!filf.'mq 1956 <i> 3RPffl 

(2) fll :iI , I ~ 3!filf.'mq 1932 <i> 3RPffl 

(3) '1'ffil\1:r ~ 3!filf.'mq 1872 <i> 3RPffl 

(4) ~ 3l'l'lT ~ ~ WIT <i> ~ ~ <i> 3RPffl 

14. Which of the following is not rdated to company? 

(1) Memorandum of Association 

(3) Partnership deed 

(1) mtG 4l1J1f.1~1J 

(3) f1I;i1,I~ ~ 

( 4 ) 

(2) Articles of Association 

(4) Prospectus 

(2) mtG 3l'ilf.j~1J 

(4) ~f11''''1 



15. Restriction on transfer of shares is related to : 

(1) Public company 

(3) Subsidiary company 

;Wit <I; ,,,<1 it"'1 'IX llf'Inm ~ t , 
(1) ~1~Ojf.1", ~ ~ 

(3) {lOll'''' ~ ~ 

(2) Private company 

(4) Holding company 

16. The minimum number of members for a public company is : 

(1) 2 (2) 5 (3) 7 (4) 10 

1 o P/20 1 12 

17. What is the minimum number of directors in a private company as per the 
Companies Act, 1956 ? 

(1) Unlimited (2) 2 

(l)~ (2) 2 

18. Trade combination is synonym of : 

(1) Horizontal combination 

(3) Lateral combination 

aHqlR<ti ~4~)\JH G1lTtr ~ : 
(1) frtffrGf ,141",'1 m 
(3) ~ fi<iMi m 

19. Mixed combination is synonym of : 

(1) Horizontal combination 

(3) 5 (4) 7 

(3) 5 (4) 7 

(2) Vertical combination 

(4) Circular combination 

(2) '!lW,~ m 

(4) 'i'IlWl fi III OJ '1 m 

(2) Vertical combination 

(3) Circular combination (4) Lateral combination 

fllfmr ",1'1 ""1 'lW! ,,; , 
(1) a1fIrG! filll"''i m (2) '!lW filll"''i 'liT 

(3) 'i'IlWl ,j4l"l'i 'liT (4) ~ fi4l",'i 'liT 

(5) P.T.O. 
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20. Indian Sugar Mills Association is an example of : 

(1) Horizontal combination (2) Diagonal combination 

(3) Circular combination 

~ <iMl fiB ;.jq <;<1> '3 G It'" "I t : 

(1 ) Il'tfc'rG! <i 4101'1 'liT 

(3) ~ 'iilhH 'liT 

21. Holding company is : 

(1) Federation 

(3) Pool 

~~t 

(1) ~ 

(3) W'l 

22. Trust came into existence in : 

(1) France (2) Japan 

W~i!=: 

(1) l!iffi i'I (2) VlT'll"f i'I 

23. Absorption is a form of : 

(1) Complete consolidation 

(3) Holding company 

fil"wl'l J<ffiTI '& : 

(1) 'l."f ~ 'liT 

(3) ~~'IiT 

( 6 ) 

(4) Process combination 

(2) fll '" ojj 11 <i "lcH 'liT 

(4) ll1Wm MIGH 'liT 

(2) lnforrnalagreement 

(4) Partial combination 

(2) 31'1'1Qil,R", ~ 

(4) 3Iifffi> <i 4hH 

(3) Germany (4) U. S. A. 

(3) w#t i'I (4) '1° 'T'ffo ~o Ii 

(2) Partial consolidation 

(4) SubSidiary company 

(2) 3Iifffi> ~ 'liT 

(4) ,",,'''''' ~ '!iT 



24. Management is an important branch of : 

(1) Physical sciences (2) Social sciences 

(3) Ethical sciences (4) Economics 

lI'R! >!p1! = t ; 

(1) ~ titW'l '!if 

25. The last function of management is : 

(2) <11 '11 ft, '" f<\";;IR '!if 

(4) ;J!~ '!if 
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(1) Directing (2) Planning (3) Controlling (4) Staffing 

26. Who has classified management functions into five categories? 

(1) Luther Gulick (2) Henri Fayol 

(3) Henry Dennison (4) Oliver Sheldon 

lI'R! <f; q;l'i\ <!iT f<l;w) tIT<! @flit if f<Mftm fllRn t ? 

(1) O!,"-R ~ (2) ~ ti;<im 

27. Mental revolution is related to : 

(1) Rationalisation 

(3) Scientific management 

'1I'1R1", wift\ ~ t ; 

(4)~~ 

(2) Combination 

(4) Modernisation 

(1) 1'10<£1""'1 -it (2) ,i'11"''1 -it 

(3) ~ .11 f.1 '" lI'R! >it (4) ~<tr<R"T >it 

(7) P.T.O. 
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28. 'Co-operation, not individualism' is related to: 

(1) Scientific management 

(3) Combination 

'fl!.n~)ll, ;:r f$ Ulf<k1CIIe:' ~ ~ : 

(1) ~,"f.1", ~ -cf! 

(3) <ill;"''' -cf! 

29. 'Fatigue study' is an element of: 

(1) Rationalisation 

(3) Simplification 

'o.r'l>R 3lV1'R' 'i'l' m<r t 

(1) 14~<61",,', <PT 

30. Scalar chain means: 

(1) Division of work 

(3) Unity of direction 

"juj\ ~ <PT 3lot .mrr t ; 
(1) WI fu>rM'1 

(3) f.14" " qj) '0fiill 

31. Which is not related to planning? 

(1) Mental process 

(3) Intellectual process 

<li'R-'ffi f.1"',",,, -cf! ~ 'f1fI't ? 

(1 ) "' "R< '" l!fsl>m 
(3) <I)t%-<l> l!fsl>m 

( 8 ) 

(2) Rationalisation 

(4) Nationalisation 

(2) 14~<61",,',-cf! 

(4) "~""""-cf! 

(2) Mechanisation 

(4) Scientific management 

(2) do\l""" <PT 

(4) ~>IIf.1", ~ <PT 

(2) One head, one plan 

(4) Chain of superiors 

(2) 'i'l' lIm'f, 'i'l' ~ 

(4) 'Iful'i qj) ~ 

(2) Mechanical process 

(4) Continuous process 

(2) <li&!> ~M 

(4) mrff ~M 



32. Policy is an element of : 

(1) Planning 

(3) Directing 

~ '0l> m<r ~ 

(1) ~"l"''' <PT 

(3) ~~'H <PT 

33. Programme is an element of : 

(1) Organising (2) Planning 

"" ~ '" Ii '0l> m<r ~ : 

(2) Communication 

(4) Discipline 

(2) 'A<iI,o, <PT 

(4) "'j''''A'' <PT 

(3) Strategy 
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(4) Rules 

(1) ~ <PT (2) ~"1"''' <PT (3) ,o''1~R\ <PT (4) f.'r'1'l 'hl 

34. Which is the first function of management? 

(1) Managing 

(3) Planning 

lW'! <PT I!>I'! ~ <tR-~ ~ ? 

(1 ) lW'!'i 'f'ffi 

(3) ~"l"''' 

(2) Communicating 

(4) Directing 

(2) 'A>i),o, 'f'ffi 

(4) ~~.,,, 

35. What is the first step in the decision-making process? 

(1) Developing alternatives (2) Analysing the problem 

(3) Evaluating alternatives (4) Selecting alternatives 

~ 0\<", llflI;m <PT I!>I'! TWT <tR-~ ~ ? 

(1) 14",<"i\ ~ m (2) WR<lT <PT fi1,~"O' 

(3) 14 '" <"i\ <PT '1"" i "''' (4) fi1 ",«l\ <PT 'ifIR 

(9) P.T.O. 
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36. Span of management is related to ; 

(1) Organisation (2) Planning 

lI'Rl <PT flffirR ~ ~ ; 

(1) ~ <'l (2) f.1>iNH "fr 

(3) Recruiting (4) Selecting 

(3) >m\ <'l (4) "l'R"fr 

37. Which is the simplest form of organisation structure? 

(1) Committee organisation 

(3) Line organisation 

(1) <rfi\fu ~ 

(3) ~~ 

38. Which is not related to centralisation? 

(1) Uniformity of action 

(3) Tight control 

<Ji'ifj,w, "fr <$!-m ~ 'ffff" ? 

(1) i1>I<f qj\ <iBMd, 

(3) qra'p f.1ti~', 

39. Training comes under: 

(1) Staffing function 

(3) Organising function 

J<ftraJUr = " ; 
(1 ) f.1 'lRffi i1>I<f qi 3R!'hr 

(3) ~ i1>I<f qi 3R!'hr 

( 10 ) 

(2) Project organisation 

(4) Line and staff organisation 

(2)~~ 

(4) ~ '7'i ,,"1<,4> ~ 

(2) Greater flexibility 

(4) Span of control 

(2) 3lfCr<p ctI ~ 'l,"ld , 

(4) f.1 ti ~" <PT flffirR 

(2) Planning function 

(4) Controlling function 

(2) f.1 <il '" '1 i1>I<f <f; 3R!'hr 

(4) f.1 ti ~ ", i1>I<f <f; 3R!'hr 
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40. Which is not an clement of directing? 

(1) Issueing orders (2) Guiding (3) Supervising (4) Planning 

$!-m Pl<hH <!IT ffi'1 ~ ~ 7 

(1) ~ <!IT f.pf>R (2) lJT'f G&.! 'R'll (3) ~eJUr 'R'll (4) f.'ro)-uA i'fi "" 

41. Observation is a method of : 

(1) Planning (2) Controlling (3) Selecting (4) Training 

31q&1'''''' ~ f<\jl) ~ : 

(1) ~"1"'" <tt (2) ~<i~"' <tt (3) ""'" <tt (4) lWleJUr <tt 

42. Audit relates to: 

(1) Controlling (2) Planning 

(3) Coordinating (4) Communicating 

3i<i>eJUr ~ ~ : 

(1) ~<i~"1 xl (2) f.1 til 'J H xf 

(3) Wl'" "" xl (4) {1~qol ~ 

43. Example is a technique of : 

(1) Budgeting (2) Policy (3) Strategy (4) Controlling 

" ~ \3C;:lg;::ul 10fl dtfj--1lCf) : 

(1) 'I'iIC 'f'ITit <tt (2) ~<tt (3) "! ul;:fj fd -$t (4) ~<iel", <tt 

44. Hierarchy of needs theory was propounded by : 

(1) A. H. Maslow (2) Peter F. Drucker 

(3) Me Gregor (4) L. W. Porter 

Jllq''''''dl3lT <tt -il0I%dl i{]<ll'fl \llftql~d fuRn'1m : 

(1) ",,0 1f'!0 i')wit &NT (2) ~ ","0 ~ &NT 

(3) % 1lMx &NT (4) ","0 ~o ~ &NT 

(11) P.T.O. 
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45. H.ecruitment precedes: 

(1) Training (2) Motivating (3) Selecting (4) Directing 

(2) ~<l (3) "fIR <l (4) f.'I~"'1 <l 

46. 'An employee should receive orders from one superior only.' This principle is 
called the principle of : 

(1) Unity of direction 

(3) Balance 

47. Organisation does not include: 

(1) Division of work 

(3) Source of authority 

~ ii '11 fi>1 R1 d 'fIff 'g : 

(1) <Pr4 q;r ~ 

(3) ~q;r~ 

48. Management is : 

(1) An art 

(3) Both art and science 

Jw-£l ~ : 

(1 ) \[<Ii 'Iii'1T 

(3) 'Iii'1T q ~ G'A'f 

( 12 ) 

(2) Unity of command 

(4) Efficiency 

(2) ~ q\\ 1f<I'ffi q;r ~<1I'f1 

(4) GffilT q;r ~<1I'f1 

(2) Group of individuals 

(4) Policy 

(2) ~q;r ~ 

(4) -.frfu 

(2) A science 

(4) Neither art nor science 

(2) \[<Ii fimR 

(4) <1 <iT 'Iii'1T. <1 1fT ~ 



49. Section 3(1)(iii) of the Companies Act, 1956 defines: 

(1) Company (2) Private company 

(3) Foreign company (4) Government company 

~ ~ 1956'11i >mT 3(1)(iii)~ ~ i: 

(1) ~ i!i1 

(3) ~ ~ <n'r 

50. Section 2(2) of the Companies Act, 1956 defines: 

(1) Memorandum of association (2) Articles of association 

(3) Prospectus (4) Promoter 

~ ~ 1956'11i >mT 2(2)~ ~ i: 

(1) 'lT1!G '@n f.'!wJ i!i1 (2) 'lT1!G 31 '\1 f.i" " i!i1 

(3) 1lf.\''''1 i!i1 (4) ~ '1fT 

51. What is not relat~d to the legal position of directors in a company? 

(1) Director as a servant 

(3) Director as a partner 

(l) f.'1~"<fj ~ q'; _ it 

(3) f.'1~"<fj f1,>iI,m '$ _ it 

(2) Director as a trustee 

(4) Director as a promoter 

(2) f.1~M IRllW '$ _ it 

(4) f.1~11<fj ~ '$ _ it 

10P/201l2 

52.. What is the minimum number of directors in a public company as per thE...' 
Companies Act,. 1956 ? 

(1) 2 (2) 3 (3) 4 (4) 5 

(13) P.T.O. 
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53. Section 2(e) 01 the Indian Contract Aet delines: 

(1) Agreement (2) Promise (3) Contract (4) Offer 

(1) ~ qir (2) 'l'R 'iii (3) \"ifil~1 'iii (4) lffiWf 'iii 

54. Section 2(d) of the Indian Contract Act defines: 

(1) Acceptance (2) Ofler (3) Consideration (4) Promise 

(2) >mWI 'iii (4) 'l'R 'iii 

55. An agreement '\<Vithout consideration is : 

(1) Valid (2) Voidable (3) Illegal (4) Void 

f.RT ~RI"'<iI <& ~ ;!tit t : 
(1) 'lRl (2) "Io.\<lta (3) m (4) 'I["l 

56. An agreement to do an impossible act is : 

(1) Valid agreement 

(3) Void agreement 

3fffI'>!i'! <PT1l ~ il>T ~ .mrr 1) • 

(1) '!Rl ~ 

(3) "l:>t ~ 

57. A contract of indemnity is a : 

(1) Contingent contract 

(3) Wagering agreement 

~ <t\ ~<ilii "I 1i\ct\ 1) • 

(1) W'lTill ~<iIii~1 

(3) "]3!1 il>T ~ 

( 14) 

(2) lllegal agreement 

(4) Voidable agreement 

(2) Quasi contract 

(4) Void agreement 

(2) 3l<l ~<iIii~1 

(4) 'I["l ~ 



58. The provisions of the Sale of Goods Act is related with; 

(1) Immovable property 

(2) Movable property 

(3) Both movable and immovable property 

(4) Land and building 

~~~WilWl'1R~~: 

(1) ar<r.I ~ ~ 
(2) _~~ 

(3) _ ~ 'If<IoI ~ oFif ~ 
(4) 'l!lt ~.".,., ~ 

59. A sales is ; 

(1) Executory contract 

(3) Quasi contract 

JQ;.j m~: 

(I) PI"I,<;oft" \lfilll~, 

(3) at;;f llfilll'" 

(2) Executed contract 

(4) Constructive contract 

(2) f<1"1'~" \!<illiG' 

(4) "'~''''''' 1I'!i1ll<;, 

&0. bt a. contract of sale, quality of goods is a : 

(1) Warranty (2) Implied warranty 

(3) Condition 

f.\lIXt ~ 1'( 'ffi'f ~ f<tR+I lircf\ ~ : 
(1) 31"."1'1 

(3) mt 

61. In partnership, partnership deed is ; 

(4) Implied condition 

(2) TJfl\<t 31"'l"H 

(4) TJfl\<t mt 

(1) Essential (2) Compulsory 

(3) Voluntary (4) According to situation 

.",~ <;' q) ii. <i'~ " ,q) 1#rur <!iT lWrr ~ : 

(1) 31 ""'1<1, (2) 3lf.1<wl 

(3) ~IW'" (4) ~ Wi ~. 

10P120112 

( 15) P.T.O. 
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62. The admission of minor in partnership is by : 

(1) Unanimously 

(3) Two-third majority 

{ll>il~ I~ if ~ <!iT >I'ffi mm 'g : 

(1) {14W'1R1" 

(3) G'\-~ "S'ffi " 

(2) Majority 

(4) Minority 

(2) "S'ffi " 

(4) 3lO'l'!O" 
63. On the death of the partner the dissolution is of : 

(1) Firm 

(3) Both firm and par.tnership 

(1) 1f;l\ q\\ 

(3) 1f;l\ 3l'R {l1;;1" I ~ <:RT q\\ 

64. Which is a negotiable instrument? 

(1) Postal order 

(3) Bill of exchange 

<BR-'ffi q",,,,,, ~ .~ 7 

(l)~~ 

(3) ti1 f.'WI fi1trn 

(2) Parinership 

(4) Neither the firm nor the partnership 

(2) ,";;1",~ q\\ 

(4) 'I <it 1f;l\ q\\, 'I tt "".,,, I~ q\\ 

(2) Letter of credit 

(4) Share certificate 

(2) WS!-<Bl 

(4) om Jll1lUT <Bl 

65. Which is not a characteristic of negotiable instrument? 

(1) Consideration (2) Easy negotiability 

(3) Written document (4) Non-transferability 

<BR-'{jT q"I>I'" ~ q\\ 1lI'1"" I "f1ff ~ 7 

(1 ) \I R\ q"., (2) "tffiI III f.1 ~''"' 
(3) ~ l!<Bl (4) 3lgffil"'~" 

( 16 ) 
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66. A cheque is a : 

(1) Bill of exchange 

(3) Share warrant 

i)q; .mrr t; : 
(1) f<lf.'l"~ ~ 

(3) om~ 

(2) Promissory note 

(4) Share certificate 

67. Negotiable Instrument Act was passed in the year: 

(1) 1947 (2) 1936 (3) 1960 (4) 1881 

(1) 1947 if (2) 1936 if (3) 1960 if (4) 1881 if 

68. Which Section of the Negotiable Instruments Act defines promissory note? 

(1) 4 (2) 5 (3) 6 (4) 8 

(1) 4 if (2) 5 if (3) 6 if (4) 8 if 

69. A new partner can be admitted into a firm by : 

(1) The consent of the senior partner (2) The consent of majority of partners 

(3) The consent of all the partners (4) The consent of two-third of partners 

q;ij if 'fllT tll;Ii in< q>j l!im lit u<fffiT t; : 

(1) qfW tll;lii;i< q\) tI!!"R1 fl 

(3) ti'\\ <1 1;Ii<;I,'i q\) tI!!"R1 fl 

(2) ~ <11;;\<;lii q\) tI!!"R1 <1 

(4) <i\.~ tll;Ii<;Ii1 q\) <1""R1 fl 

70. Which Section of the Negotiable Instruments ActJ 1881 defines a cheque? 

Q,II>I"1 ~ ~ 1881 q\) <"!iR.~ 'lffi i)q; 'lit ~ ~ t ? 

(1) 5 (2) 6 (3) 7 (4) 8 

( 17 ) PTO. 
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71. Which is not a function of central bank ? 

(1) Regulator of currency 

(3) Controller of credit 

,,;'pnlT 'flIl ~ ~ 'fiT .my t 7 

(1) ~ 'fiT ~"''i'" 
(3) "flruI 'fiT ~ <i ~'" 

(2) Banker of the government 

(4) Receiver of public deposits 

(2) m<t>R 'fiT *"' 
(4) {j 14 '" ~ '" Uf'IT 'fiT m<r<t> 

72. Which is not a method of credit control ? 

(1) Issue of currency (2) Bank rate policy 

(3) Open market operations (4) Selective credit controls 

~ -<it fitiil "flruI ~ <i ~Ol q\'t .my t 7 

(1) ~'fiT~ (2) ~ '" ;j)fu 

(3) ~ >fIVlR Oill<'l" (4) il"" l(l{ifi "flruI ~ <i~"1 

73. International Development Association was established in : 

(1) 1947 (2) 1956 (3) 1960 

3F",\'\i1>1 fltq;m ~ q\'t '.:wRl sl! . 
(1) 1947ij (2) 1956ij (3) 1960 ij 

74. International Finance corporation was established in ;' 

(1) 1944 (2) 1947 (3) 1950 

(1) 1944 ij (2) 1947 ij (3) 1950 ij 

75. The principles of bank lending policies do not include: 

(1) Liquidity 

(3) Non-stability of funds 

(1) iF <'1<" 

(3) qiffi q\'t ~ 

( 18 ) 

(2) Safety 

(4) Diversity 

(2) '.l'eJT 

(4) flIf<lmrT 

(4) 1969 

(4) 1969 ij 

(4) 1956 

(4) 1956 ij 
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76. Non-Financial quantitative information is not recorded in the books of account 
due to: 

(1) Dual Aspect Concept 

(3) Money Measurement Concept 

(2) Accrual Concept 

(4) Matching Concept 

i\x-~ '11~''''''' 'l>q~,~ mm-~ it ~\i1.<;; 'I f$j) iilR 'l'l 'PRUf ~ , 

(1) fil:-'llH ~ (2) orW! ~ 

77. Realisation concept implies: 

(1) Receipt of order 

(3) Receipt of cash from customer 

<JWll ~ <!>l ~ 'g , 

(1) ~<t\'t ~ 

(3) mt<¢ iI """ <t\'t ~ 

(4) ~ WIURUJ1 

(2) Delivery of goods 

(4) Final settlement of account 

(2) Tffi'! <t\'t ~g~,ft 

(4) ~ 'l'l ~ f,1QeIX' 

78. Both assets and owner's equity would increase by : 

(1) Withdrawals 

(3) Payment to creditors 

(2) Credit Purchase of Machine 

(4) Retained Earnings 

Q[l""'RlI11 = ",,,fl\i<1 -wmT GB\ it ~ ci\<1l , 

(1) ~ iI (2) ~ ;j; ~ W<1 '" 

79. The convention of conservation has the effect of : 

(1) Over-statement of assets 

(3) Understatement of liabilities 

""ffi", ~ (j' ql\ tW<R1 'l'l Wff'[ ~ 

(2) Understatement of assets 

(4) Overstatement of profit 

(1) qRW'lfilili ¢l 3!lil'f<"l;iI'" (2) Q[l"",Rllll ¢l <l!'ll'f<"l;ilH 

(3) ~,f11Mi 'l'l <l!'ll'f"";"'~ (4) <WI 'l'l 3!lil'f<"l;ilH 

( 19) PT.O. 
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80. Which of the following is not an accounting equation? 

(1) Assets ~ Capital +. Liabilities (2) Capital ~ Net Assets 

(3) Liabilities - Capital ~ Assets (4) Liabilities ~ Assets - Capital 

f.1 "i ~ Rli~ ij ~ <OR iii '-"; '" 1 (l41 ",,01 '11ft' 15 ? 

(1) qRW'1RlIli : ~ + GTf'IR<l (2) ~ ~ w:- qR{l"lRl", 

81. Stock-in-trade is a (an) : 

(1) floating asset 

(3) fictitious asset 

"lT4R -ij-, 15 RI" I 15 "'" ; 

(1) "'WI" qR{l"lRi 

(3) ~ qR{l"lRl 

(2) fixod asset 

(4) intangible asset 

(2) ,"ll'fi qR{l"lRl 

(4) ~ qR{l"lRi 

82. The amount of depreciation charged wiil be debited to the.; 

(1) Particular Asset Account (2) Cash Account 

(3) Trading Account (4) DepreciatiOn Acrount 

om <t; 'm ij ~ 'f'lT ~ <!it 'lJlI fi'rn1 ~ ; 

(1) ~ q R{l "l RI '-'lTff it (2) ~ '-'lTff it 

(3) "lT4R '-'lTff ij (4) om '-'lTff ij 

83. Depreciation is a process of Cost: 

(1) Allocation (2) Valuation (3) Fluctuation (4) Estimation 

5f'(I "'" Jlfi)Krr f5 (>ff>Tff ; 

(1) 3!1<ic"'l qi) (2) 'lp'''; '" '1 qi) (3) '3'" '"'' '1 qi) (4) 31j'lI';"" qi) 

(20 ) 
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84. The sale value of an asset after it becomes useless is called: 

(1) Scrap Value (2) Sale Value 

(3) Re-sale Value (4) Realisable value 

~ q R fI A1 R1 <i> w,l "I'l tl1 '1 litit <i> <rTG fuw<l 'PI 'fir "%1 vmn 'g • 

(1) ~ 'PI (2) fuw<l 'PI 

(3) g'1f<j"", 'PI (4) = 'PI 

85. Loss OIl sale of plant should be written off against: 

(1) Share Premium ACCOWlt (2) Share Discount Account 

(3) Share Forfeiture Account (4) Depreciation Fund Account 

~ <f; fuw<l tR l'!f.r 'fir '" q~ R!l t1 filxrr UTRT ~ • 

(1) 3m<nr Illfil,,~ ~ "fl 

(3) 3m<nr ~ ~ "fl 

(2) ~"'?T <!mI <'t 

(4) ;;m <tit'f <!mI <'t 

86. Subscription received in advance by a Club is : 

(1) an income (2) an expenditure (3) a liability (4) an as..<;et 

~ <tR'I Gm 0!fWI lW<I 'RT 'g • 

(1) 3IT'l (2) _ (3) GTfWl (4) qRflA1R1 

87. Current Account of a Partner is a : 

(1) Fictitious Account (2) Personal Account 

(3) Real Account (4) Nominal Account 

"'" fll;iI ,m 'PI "lR1 <5I1ffi ~ "'" • 

(1) ~ <5I1ffi (2) '" IiId ' 1 t1 <5I1ffi 

(3) q 1 ffi III '" <5I1ffi (4) '11 ~"" <5I1ffi 

(21 ) P.T.D. 
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88. Goods of the value of Rs. 1000, withdrawn by the owner for his private usc, is 
credited to : 

(1) Sales Account (2) Owner's Drawings Account 

(3) Purchases Account (4) Expenses Account 

~ 1lffl ~ <m>l <f; fW\ '00 10OQ'l"" <f; 'lR'I <f; ~ <!it UT'lI ~ ijffijj ~ : 

(1) 1'iIw<I wff it (2) ~ <f; 3l1O<"I wff it 

(3) .lIf<I wff it 

89. Outstanding interest is a (an) : 

(1) Personal Account 

(3) Nominal Account 

3lG<I i!:(fOI ~ 11'1' : 

(1) dlfffi'ld = 
(3) '1'''''''' = 

90. A business transaction affects: 

(1) At least one account 

(3) Maximum of two accounts 

11'1' dl,.""fl1 .. ~ ~ <!R<!T ~ : 

(1) 'l>'l U 'l>'l 11'1' wff <!it 

(3) ~ <it <lmIi <!it 

91. Trading Account is a : 

(1) Trader's Account 

(3) Real Account 

1'1l1'1T'1 "ITirr ~ 11'1' : 

(1) ''IT'lR\ <!iT = 
(3) q''R1f;1", = 

(22 ) 

(4) "TIl wff it 

(2) Real Account 

(4) Un-eamcd Income 

(2) .''R1f<1 .. = 
(4) 3!iq'~<f 3ll'I 

(2) At least two accounts 

(4) Only two accounts 

(2) 'l>'l U 'l>'l <it <lmIi <!it 

(4) <i>Mr <it <lmIi <!it 

(2) Personal Account 

(4) Nominal Account 

(2) dlf<\ct"<l = 
(4) '1,""'., = 
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92. Realisation Account is a : 

(1) Nominal Account 

(3) Personal Account 

(1) ~'""''l ~ 

(3) dlfl\t'ld ~ 

(2) Real Account 

(4) Partner's Account 

(2) ql«1f<)", ~ 

(4) {j1;iJ~" q5) ~ 

93. Loss on Realisation Account is transferred to : 

(1) Debit Side of Cash Book (2) Debit Side of P IL Account 

(3) Debit Side of Partners' Ale (4) Asset side of Balance Sheet 

'fWlT i<lffil $) 0Tf.'r <Iir 5ffi1",Rd Wn = ~ . 
(1) "'- gm<P <i; ~ 'llff it (2) CWf-OTf.'r i<lffil <Ii ~ q&f it 

94. When goodwill is raised at the time of admission of a new partner, the credit to 
the old partners' capital account is given in their: 

(1) New Profit sharing ratio 

(3) Sacrificing Ratio 

(1) 'fIl CWf-fiMT<;R ~ it 

(3) <'<WI -3!J<ml it 

(2) Old Profit sharing ratio 

(4) Capital Ratio 

(2) gffi O!N fiMT<;R ~ it 

(4) ij,o!i -3!J<ml it 

95. Reserve created out of capital profits is called: 

(1) Reserve (2) Fund 

(3) Reserve Capital (4) Capital Reserve 

~c1I' I d Oll'-it ,'r ~ <iwl <Iir = = t . 
(1) <iwl (2) <Iir'! 

(3) <iwl ij,o!i (4) ~ W1<l 

(23 ) PTa. 
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96. In the absence of an agreement profit and losses are divided among the 
partners in the ratio of : 

(1) Capital (2) Partners' age 

(3) Time devoted by partners (4) Equality 

fiIRfr 'H,,;;lid <t\ ~"1flt if 'H1;;1,,") <I; '1UI owr-Olf.'t <m ~ 1itm ~ "':J'ffi! if • 

(1) i):v!t <I; (2) 'H1;il",,) <t\ 3!l'J <I; 

(3) 'H1;;1"")"iiRT 'H"Ii1" 'H'l'l <I; (4) 'H",.j'" <I; 

97. Revaluation Account is prepared by a partnership firm at the time of : 

(1) dissolution of the firm (2) retirement of a partner 

(3) insolvency of the firm (4) registration of the firm 

'f'I' 'H1;;1",{I q;1j <I; "iiRT ~11""i"'1 Will <T<!R f<lrm iiTTffi ~ • 

(1) q;1j <I; ~ <I; 'H'l'l (2) <1l;;lGrx <I; 3!'l'lim "!W'f <I; 'H'l'l 

(3) q;1j <I; ~'" R1 '" ~ <I; 'H'l'l (4) q;1j * f.'riRR <I; 'H'l'l 

98. On the admission of a new partner the decrease in the value of assets is 
debited to : 

(1) P IL Adjustment Account (2) Assets Account 

(3) Old Partners' Capital Acco\,-nt (4) New Partner's Capital Acc(mnt 

'f'I' "fil 'H1;;1,," <I; m tR qRwqRl"l <I; 'l"'l ij "iI>'\\ <liT ~ f<lrm "!rill " 

(1) owr-Olf.'t 'H"''11,"1 Will if (2) qRwqRl Will ij 

99. On the admission of a new partner the increase in the value of assets is 
debited to: 

(1) New Partner's Capital Account 

(3) Assets Account 

(2) Old Partners' Capital Account 

(4) P IL Adjustment Account 

'f'I' "fil 'H1;;1,," <!; Wrn tR qR'HA1R1'1' <I; 'l"'l if ~ <liT ~ f<lrm umrr ~ • 

(1) "fil 'H 1;;1 ,," <I; i):v!t <:sml if (2) ~ 'H 1;;1 ",0 <I; <PfT <:sml "i 

(24 ) 
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100. A and H shared profits in the ratio of 7 : 9. C is admitted as a new partner for 
whom A sacrifices t of his share and B ~ of his shares. The new ratio among 
A, Band C will be : 

31 <!''IT " 7 : 9 <i> 3!1'lRf if ill'f <iic<f lit I <1 'lit "'" 'lil tll!II 'm <i> -.,q if lrW ~ 
<rm tr ftffi<i> fuil 31 ~ 1JT1T iPT -t "'IT".~ 1JT1T iPT 1 .f<':IGH 'IffilT tr I 31, " 
"'IT " <i> _ 'l<!f 3!1'lRf oPrr : 

(1) 18: 21 : 25 (2) 21: 18 : 25 (3) 25: 21 : 18 (4) 21: 25 : 18 

101. Preliminary expenses are: 

(1) Establishment Expenditure 

(3) Deferred Revenue Expenditure 

~OIl'!mcftr: 

(1) 3IfitooR OIl'! 

(3) ,<#To 3!1'l'Rl OIl'! 

(2) Revenue Expenditure 

(4) Capital Expenditure 

(2) 3!1'l'Rl OIl'! 

102. Preferential Creditors shown in the statement of Affairs are given as per: 

(1) List A 

(3) List C 

(1) 'l,"l\ A <i> 3fT'lR 

(3) 'l,"l\ C <i> 3fT'lR 

(2) List B 

(4) List D 

(2) 'l,"l\ B <i> 3fT'lR 

(4) 'l,"l\ D <i> 3fT'lR 

103. The amount of deficiency is given under; 

(1) List E (2) List F (3) List G 

(1) 'l,"l\ E <i> (2) 'l,"l\ F <i> (3) 'l,"l\ G <i> 

(25 ) 

(4) List H 

(4) 'l,"l\ H <i> 

PTO, 
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104. Under the Provincial Insolvency Act, the wages of each labourer 
preferential to the extent of : 

(1) Rs.20 (2) Rs.80 (3) Rs.100 (4) R,.300 

I!Rftu ~ql~'11 ~qi~ 
~l\ 

~ ".>lfltq; q\j ~~iA 

(1) <;;0 20 (2) '00 80 (3) <;;0 100 (4) <;;0 300 

105. The Doctrine of Reputed Ownership is applicable in the case of : 

(1) insolvency 

(3) indemnity 

(1) ~qlf<>l~q" ij 

(3) ~ ij 

106. ShorhN'orking is equal to : 

(1) Royalty - Minimum Rent 

(3) Royalty + Surplus 

&I'l<!>I~<I~1 <Rm Wn l\ , 

(1) ;ffii'I<!>I<'!l"'" - "'!:'idB f<Rnn 

(3) ;ffii'I<!>I<'!l"'" + ~ 

107. When Royalty is paid it is debited to: 

(1) Asset Account 

(3) Profit & Loss Account 

(2) insanity 

(4) inter-dependency 

(2) ql'l",q" ij 

(4) ql<""R<!> WWl"T ij 

(2) Minimum Rent - Royalty 

(4) Minimum Rent 

(2) "'!:'Wl f<Rnn - ;ffii'I<!>I<'!l"'" 

(4) ~ f<Rnn 

(2) Landlord's Account 

(4) Royalty Account 

Vf'l ~ W'I' '<!>T ~ f<\>m Offill l\ ffi ~ ;ffiJ:c f<\>m Offill l\ , 

(1 ) q RW'1 Rl <llTit ij (2) 'l--'Rf1l1\ qi <llTit ij 

(3) O!l'l-mf.'f <llTit ij (4) ;ffii'I<!>I<'!l"'" <llTit ij 
(26 ) 

are 

q\j 
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108. The Lessee's right to recover the short workings is related to the: 

(1) first five year 

(3) terms of the agreement 

(1) llW! 'li<r '!'IT xl 

(3) 'll '1.n~ <tr m1T xl 

(2) last five years 

(4) subsequent five years 

(2) ~ 'li<r '!'IT xl 

(4) '3 q" 'f1 'li<r '!'IT xl 

109. Provision for bad and doubtful debts appearing in the books at the time of 
dissolution of firm is transferred to ; 

110. 

111. 

(1) Partners' Capital Account 

(3) Realisation Account 

(2) Debtors Account 

(4) Bad Debts Account 

'!i'\ <tr Ol", I gfd "') # fti) 'l'l ~ 10i ~ ">P'T ~ l!T'l'lR qi) qnj <I> ~ <I> 
'll'l'l "fd I 'f1 R <I F<Pm "ITGT i : 

(1) '" 1,jI '",1 <I> tf::;f\ m # 

(3) ~ m Ii 

(2) ~",,", <I> m ij 

(4) ~">P'T m # 

Old profit sharing ratio ( - ) new profit sharing ratio ::::; 

(1) Gaining Ratio (2) Goodwill Ratio 

(3) Capital Ratio (4) Sacrificing Ratio 

~ BJ'1" fit<Rur 3lJ'IT'f (-) 'f'lT BJ'1" fit<Rur 3lJ'IT'f ~ 
(1 ) BJ'1" 3lJ'IT'f (2) ~ 3lJ'IT'f 
(3) tf::;f\ 3lJ'IT'f (4) <Wf 3lJ'IT'f 

A and B who share profit in the ratio of 3; 1 respectively, admit C to ± th share 

in the future profits. C acquired his share equally from A and B. The new profit 
sharing would be : 

A = B '>it 3 : 1 <I> 3lJ'IT'f # BJ'1" flI">lroR qm! jl, 'ff<fr BJ'1" ij .! 'lPT ~ C qi) 
4 

m ~ i I C ;'( '3!'AT 3M A <ll!lT B xl 'RT'R-'RT'R = F<Pm I BJ'1" flI">lroR 'liT 'f'lT 

3lJ'IT'f tirTT : 
(1) 9: 3 : 4 (2) 2: 1 : 1 (3) 3: 2 : 3 (4) 5: 1 : 2 

( 27) P,T.Q, 
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112. A and B are partners. They admit C as a new partner. Calculate the sacrifice 
ratio from the following information: 

Old Ratio 

A 

3 

Partners 

B 

7 

c 

New Ratio 1 2 1 

A l!>lT B '" I >1 'm ~ I it C qi) '!it '" I >1 G IX -<I; '"" it wrn ~ ~ I f.1 "i ~ ffll <i 'l:'ffi -<I; = 'R <"ll'T ~ W!m ~ , 

(1) 4: 3 

A 

3 

1 

'l11${<;:1"( 

(2) 4: 1 

B 

7 

2 

c 

1 

(3) 1: 4 

113. The last installment paid under the hire purchase comprises: 

(1) Cash Price only 

(3) Cash Price H Interest 

(1) -<Ii<rR '!'fiG '!"'l 

(3) '!'fiG '!"'l H ~ 

(2) Interest Only 

(4) Cash Price (+) Interest 

(2) -<Ii<rR ~ 

(4) '!'fiG '!"'l (+) ~ 

114. Under the Hire Purchase System the amount of interest is credited by the buyer 
to: 

(1) Interest Account 

(3) Asset Account 

(1) ~ wi\ it 

(3) qR"'''1R\ wi\ it 

(28 ) 

(2) Vendor's Account 

(4) Profit & Loss Account 

(2) ~ -<I; wi\ it 

(4) ill'l-m wi\ it 
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115. If the closing stock is given in the Trial Balance, it is recorded in the; 

(1) Balance Sheet (2) Trading Account 

(3) Profit & Loss Account (4) Trading Account & Balance Sheet 

'lft 3!f.Wr '" Fc1 '" ffi'f'TC if <l\ 'f'l) ~, err ~ R:rurr ~ • 

(1) ~ ~ if (2) "lNR <Smf if 

(3) ill"1' - Off.r <Smf ij 

116. The amount of Rs. to,OOO paid to the Transport Co. for transporting the 
Machine from Delhi to Varanasi should be debited to : 

(1) the Transport Co's Account 

(3) machine account 

(2) freight account 

(4) rent account 

~ ~ ql',",iA1 '<'l' .mR <t qR'W1 ~ qRq,!'1 q!o qi) f1I;,) Tf'l ,,0 10,000 <t 
~qi)~hW'lT~. 

(1) qRqi'$'1 "'0 <t <Smf ij (2) '1R 'fKIT <Smf ij 

(3) .mR mm ij (4) fil>mr mm ij 

117. The manager is entitled to a commission of 5% on profit after charging the 
commission. If the amount of commission paid to the manager is Rs. 1,15,000, 
the net profit amount will be ; 

(1) Rs.23,00,000 (2) Rs.24,15,000 (3) Rs.21,85,000 (4) Rs.20,70,000 

~ qi) fi'R>A <nO!T '" oIj" '1, ",oIj".n q" 'tl ill"1' <PI 5 % ~ I 'lft lW'li!> <t ~ Tf'l 
",oIj,,'1 q5j ~ ,,0 1,15,000~, err W' ill"1' ~ ,;pj\ • 

(1) ,,0 23,00,000 (2) ,,0 24,15,000 (3) <,0 21,85,000 (4) <,0 20,70,000 

118. The amount of mutual indebtedness is adjusted through deduction of equal 
amounts from the: 

(1) Sale and purchase 

(3) Credit sale and purchase 

(2) Sundry debtors and creditors 

(4) Opening and dosing stock 

q I ~ ttl R Cfi ?fty I !H<Hll ~ cffl" tPi I m Rii t1 ftlRrr vmn ~ 'ffllR tFRTfu cp't £i c I 'Ii'<! 

(1) lfi<l <I'lT F<tlfi<l ~ (2) 'WI ~ <I'lT ~ ~ 

(3) '3'lR lfi<l <I'lT F<tlfi<l ~ (4) ~ <I'lT 3!f.Wr ,~Fc1", ~ 
(29) P.T.O. 
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119. If the Depreciation Account appears in the Trial Balance, it will be recorded in 
the: 

(1) Profit & Loss Account and Balance Sheet 

(2) Trading Account only 

(3) Balance Sheet only 

(4) Profit & Loss Account only 

~ lml <lffi!1 ~ i\ ~"" '11 TJ1lT t \iT ~ fW!rr ~ : 
(1) "Ri"I-m <lffi!1 (1m ~ ~ i\ 
(2) ~ <1l1"IR <lffi!1 i\ 

(3) ~~~i\ 

(4) ~ "Ri"I-m <lffi!1 i\ 

120. Which one of the following is not the essential feature of a company? 

(1) Artificial person (2) Separate Entity 

(3) Limited Liability (4) Perpetual Succession 

f.1kj~ltid i\ ~ qiR ~ <m 3\f.'r<rrll OIS"\ 'fi!f t; 7 

(1) ~ "1fiffi (2) 'J"1'l' 31fuw! 
(3) ~ ~ (4) W'ffl(l ~<!iR 

121. The first Annual General Meeting of a company should be called within 
............ -. ......... of its incorporation. 

(1) 6 months (2) 12 months (3) 15 months (4) 18 months 

f<R1'r ~ q\') ~ <nfi\<ri ~ 'fI'>1T ~ f,'pl'f'! q'; "'" ,',"'," ,",' q'; 3R'! ~ 
OTA\~I 

(1) 6 'ITb (2) 12 'ITb (3) 15 'ITb (4) 18 'ITb 

122. The minimum amount of share application money is : 

(1) Rs, 2 per share 

(3) 10% of nominal value of share 

~ ~ ~ q\') "!.'1 d '1 lJP-!T t; : 

(1) '(>0 2 l!fu ~ 
(3) ~ q'; 'l1'1'1I~ 'l!'" <m 10% 

(30 ) 

(2) SOlo of nominal value of share 

(4) 15% of nominal value of share 

(2) ~ <i> ~1'1'1I~ '!?l 'liT 5% 

(4) orn<R <i> "1'1'1I~ 'l!'" <m 15% 
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123. The balance in the Share Forfeited Account after re-issue of forfeited shares is 
transferred to : 

(1) Capital Reserve Ale (2) General Reserve Ale 

(3) Goodwill Ale (4) Share Capital Ale 

~ ~ if; ~'if.\,r,,'i if; 1R'i'm\ ~ ~ wit if; ~ <!it ,"1I'iI'<1Rd f<m:rr 
omIT~ , 

(1) ~ ~ 'SffilT it 
(3) Emfu 'SffilT it 

(2) '!WlRl ~ 'SffilT it 
(4) om ~ 'SffilT it 

124. Preference Shares cannot be redeemed out of : 

(1) Sale of an Asset· (2) General Reserve 

(3) Profit (4) Development Fund 

3I1W!R mil' <fif ~ "1fI' f<m:rr ''IT WPm , 

(1) qR'1"lR9 if; ~ '" 

(3) Qf1>T '" 

(2) '(11""" ~ '" 

(4) ~ ~'" 

125. Under the Indian Companies Act, 1956, Debenture has been described under 
Section ............. . 

~ ~ ~, 1956 qj\ '1ffi """""'" if; ~ ';![Uf-'R <!it qfilm f<m:rr 
'!<IT ~ I 

(1) 2 (10) (2) 2 (12) (3) 3 (1) (4) 4 A 

126. Discount on issue of debentures is a : 

(1) Revenue Loss (2) Revenue Profit (3) Capital Loss (4) Capital Profit 

';![Uf-"m if; f.rt>A 'R ~ t , 
(1) 3lT'Jll mf.1 (2) 3lT'Jll ill'[ (3) ij:"~'m 5Tf.l (4) ij:Jj)'ld <>11"1 

127. Discount on issue of shares is shown in the: 

(1) PIL Ale (2) PIL Appropriation Ale 

(3) Liabilities side of Balance Sheet (4) Assets side of Balance Sheet 

~ if; f.'rf>R 'R ~ <!it r;:"WlI omIT ~ , 

(1 ) ill'[ -5Tf.l mil it (2) ill'[-5Tf.l f.1111 ,,1'1 mil it 
(3) ~ if; ~ Cfaf it (4) ~,if; qR""qR9 Cfaf it 

( 31 ) PTO, 
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128. Loss Prior to Incorporation is transferred to : 

(1) Capital Reserve Alc (2) Goodwill Alc 

(3) Profit & Loss A Ic (4) Share Capital Alc 

f.'rTrFr -« 'I,'llITf.'l q!r ,," I'll '" R tI ftlRn WtIl l\ • 

(1) 't>fi ~ = it (2) ~ wm it 

(3) <'!l'f-lITf.'l = it (4) om 't>fi = it 
129. The gross profit is divided between pre and post incorporation pcdods on the 

basis of: 

(1) Time (2) Purchases (3) Sales (4) Equality 

f.'rTrFr-'I,'l 'T'i W<!ff( "1t\ <l!<!fWif <i; 11U! WlfOl <'!l'f <m ~ 3ll'lR l\ • 

(1) '<f'I"'I (2) = (3) ~ (4) fi'1I'1t11 

130. The form of a Company Balance Sheet is given in: 

(1) Schedule VI Part I 

(3) Schedule III Part I 

~ ~ <m J:IRi)t! ftm s3!T 1\ • 

(1) ~ VI1-j]T[ I it 

(3) ~ III 1-j]T[ I it 

(2) Schedule VI Part II 

(4) Schedule III Part II 

(2) ~ VI 1-j]T[ II it 

(4) ~ III 1-j]T[ II it 

131. After declaration, all dividends must be paid within: 

(1) 15 days (2) 21 days (3) 30 days (4) 42 days 

uT<!un <i; W<!ff( ............ ~ <'IT'im <m :l'ffiA 'l>'RT 3!f.'r<ml 1\ I 

(1) 15 ~ <i; >fuR (2) 21 ~ <i; >fuR (3) 30 ~ <i; >fuR (4) 42 ~ <i; ~, 

132. In the revised Proforma of the final accounts of Banking Companies the 
number of Schedules is : 

(1) 8 (2) 10 (3) 12 (4) 16 

(32 ) 
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133. Term Deposi ts are shown by the Bank in the: 

(1) Schedule 1 (2) Schedule 2 (3) Schedule 3 (4) Schedule 4 

:m-<!fu<n f.'!~ q;) ~ imT ~"I"I ;:;mIT ~ : 

(1) ~ 1 "t (2) 3l1~ 2 "t (3) ~ 3 ij (4) ~ 4 ij 

134. Schedule 12 prepared by the Bank gives the details of : 

(1) Interest Earned (2) Contingent Liabilities 

(3) Other Income (4) Other Assets 

t.; imT Mo ~ 12 ij frnuT M ;:;mIT t : 
(1 ) ~ q I ft\(j "l];:;j <liT (2) 'f!l'lWl! G@Rq <liT 

(3) 3R! 3Wl <liT 

135. In the preparation of Funds Flow Statement, increase in Cash is : 

(1) Use of Funds (2) Source of Funds 

(3) Ignored (4) Added to profit 

<!it'! l!ilT6 frnuT <f; f.'!'Ilur "t. ~ ij '!f.l; : 
(1) <!it'! <liT wWr t (2) <!it'! <liT Wl'l ~ 

(3) Cf'[ flr<lR 'fti !<Pm ;:;mIT ~ (4) <'!M ij ~ ;:,mil t 

136. If the Current Liabilities are Rs. 40,000 and Current Ratio is 2: 5, the amount of 
Net Working Capital will be : 

(1) Rs. 1,00,000 (2) Rs. 60,000 (3) Rs. 40,000 (4) Rs.20,000 

(1) '0o 1,00,000 (2) '00 60,000 (3) '00 40,000 

137. Current Assets - (Inventory + Prepaid Expenses) == 

(1) Quick Assets 

(3) Cash & Bank Balances 

~ qRw'1Ri"1 - ('<eR1 'I I + ~ Vl'l) = 

(2) Absolutely Liquid Assets 

(4) Cost of Goods Sold 

(1) ~ qR<1",Ri'l1 (2) f.'!iIam: <ffi! qR<1",Ri4i 

(3) ~ \i'l1 ll<!l >iPf (4) fuw<:! ~ q;) owm 

(33 ) PTO. 
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138. The total amount of Cash and Marketable Securities is : 

(1) Quick Assets (2) Liquid Assets 

(3) Floating Assets (4) Absolutely Liquid Assets 

~ om III q"1 <1 '1~, 'l ~ qj) '!j('I <l'TIlfu l\ : 
(1) ffi@ qR{1HJRi'11 (2) m<'f qR{1HJRi'l1 

(3) 3R<2l1'ft qR{1HJRi'11 (4) f.li\am: m<'f qR{1HJRi'11 

139. Debtors Turnover Ratio represents relationship between: 

(1) Bad Debts and Sales (2) Good Debts and Sales 

(3) Credit Sales and Trade Debtors (4) Bad Debts and Credit Sales 

~ "'"" 1 Qd" 3lTffil "Rl f.1 fErcq 'ImiT l\ ~ <nT : 

(1) ~ '?I[UT om flmRI '" 'lUI (2) '3Wl '?I[UT om flmRI ci> 'lUI 

(3) i3'lR flmRI om ~"GI0 '" 'lUI (4) ~ '?I[UT om i3'lR flmRI ci> 'lUI 

140. Cost Accounting does not assist in : 

(1) Controlling expenditure 

(3) Profit planning 

C'fT1Tff &l '& i ifj '1 fI e: 111 d I ryif C(ffiff : 

(1) "l<! f.1'1"'"1 1'i 
(3) C>lN - f.'I'" '" " if 

141. Depreciation is a .................. expense. 

(1) Cash (2) Non-cash 

lmf .................. "l<!l\1 

(1) ~ (2) *,-~ 

(2) Product pricing 

(4) Tax planning 

(2) ~-'lf'R if 

(4) '"" f.'I'" "' " if 

(3) Capital 

(3) ~ 

(4) Prepaid 

(4) ~ 

142. Which one of the following is not the method of pricing the materials issued 
from the. store room? 

(1) First in, First out (2) Last in, First out 

(3) Highest in, Last out (4) Highest in, First out 

f.'I", R1 ftl <1 1'i ,'r {iR Wi ,'r f.t>fo wni\ qj) 'If'R q;;Wr <t\-., 'fiff l\ ? 

(1) IlWl 3!T'ffi, IlWl f.'r<hr (2) 3ifW1 3!T'ffi, IlWl f.'r<hr 
(3) ~i'iId" 3!T'ffi, 3ifW1 f.t>fo (4) <3i'i1d'l 3!T'ffi, ml'T f.t>fo 

(34 ) 



143. Machine Hour Rate is related to : 

(1) Overhead Absorption 

(3) Full Cost Determination 

'l"5I tjUCf 'f'( iIiT ~ 'g , 

(1) \lqR",,, ~ <l 

(3) ~ 0!T'lil ~ <l 

144. Internal Check is a part of , 

(1) internal control 

(3) statutory audit 

311'<1R", ~ 1WT 'g , 

(1) 'll1'<1R", f,1"""'1 iIiT 

(3) ~ 3i<teJUf iIiT 

145. Routine Checking must be applied to : 

(1) Purchase Returns Book 

(3) Bills Receivable Book 

~ "0'1 "fWl <'fT'l <Wft ~ , 

(1) lIIT! qmj] ~ if 

(3) = ~ ~ if 

(2) Prime Cost Absorption 

(4) Contribution 

(2) ~0!T'lil ~ <l 

(4) 3i>TGR <l 

(2) internal audit 

(4) environmental audit 

(2) 311 '<1 R '" 3i<teJUf iIiT 

(4) q~h,'~" 3i<teJUf iIiT 

(2) Sales Returns Book 

(4) Cash Book 

(2) fitlIIT! CWRf) ~ it 

(4) ~ ~ if 

146. Cash at Bank should be verified with the help of : 

(1) Journal (2) Balance Sheet 

10P/20112 

(3) Celificate from the Bank (4) Certificate from the Directors 

1t1P it ~ iIiT ,1<'11 q <j ........ .......... q\] Xi g I "" I <l ",,-iT ~ I 

(1) wl<>r (2) ~ m 
(3) 1t1P <l >Il!fUT. q?I (4) xi '11 &1 "') <'i >Il!fUT. q?I 

( 35 ) PTO. 
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147. "Auditor is a watchdog, not a .................... ," 

(1) bulldog (2) blood hound (3) bully (4) master 

"'li<i>a!'l> <rl' ~ t " f<p <rl' ................... I" 

(1) ~ <gill (2) ~,,,,,11 <gill 

148. The qualifying amount for deduction under Section 80 C of Income Tax Act for 
the Assessment year 2010-2011 is : 

(1) Rs. 1,00,000 (2) the minimum of Rs. 1,00,000 

(3) the maximum of Rs. 1,00,000 (4) 10% of Gross Total Income 

3!T'I'!i'( ~ qjj 'lRT 80 <it * 3!'lR ",,-f.'I>lRur 'l'i 2010-2011 * fui) ~\l qjj 
q]'jfffi ~ t : 
(1) <,0 1,00,000 (2) ~ '60 1,00,000 

(3) ~ '60 1,00,000 (4) """" 'WI 3lT'l il>T 10% 

149. The maximum amount of Transport Allowance exempt from income tax for an 
employee working in Varanasi during the previous year 2009-2010 is : 

(1) Rs. 800 p.m. (2) Rs. 1,200 p.m. 

(3) Rs. 1,500 p.m. (4) Rs. 2,000 p.m. 

'TIl 'l'i 2009-2010 if q",",,,,~ if ~ ",4<1111 <!Ii "'"'~'" "RlT ql') 3!T'I'!i'( 'it :J'!'l 
~~t: 

(1) '60 800 "f<\'115 (2) '60 1,200 "f<\'115 

(3) '60 1,500 "f<\'115 (4) '60 2,000 l!fWm; 

150. Education cess for the Assessment year 2010-2011 is .. "",, .... % of the Tax on Net 
Taxable Income. 

'IR-f.'I>lRur 'l'i 2010-2011 ~ '!l" 'IR-<itnl 3lT'l 'R 'IR * ............ % ~arr """" 
(Education Cess) t 1 

(1) 5 (2) 1 (3) 2 (4) 3 

(36 ) 
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